
    Made in China

Important Information:

Assembly Instruction

Read all instructions BEFORE assembling.
KEEP INSTRUCTIONS FOR FUTURE USE.

Creative Playstation

IMPORTED BY C&T International, Inc. / IMPORTE` PAR  de C&T International, Inc.

CANADA ADDRESS:
105 Stonehurst Ct Northvale, NJ 07647 U.S.A. 

3453, DU PRESIDENT KENNEDY LAC MEGANTIC, QUEBEC, CANADA G6B 2Y4

Tel, 201- 531-1919 Fax, 201- 531-1920 

Website: www.sorellefurniture.com / Site Internet : www.sorellefurniture.com



Page 2

Sorelle

A

E 
 TTool required

ASSEMBLY INSTRUCTIONS

*THIS PRODUCT MAY BE DIFFERENT FROM 
THE INSTRUCTION SHEET SHOWN*

X

Y

a

b

c g

f

Z

Z

No. Qty.Part Name

X

Y

Z

a

b

c

f

g

Back Frame

Seat Plate

Front Post

M6*80mm Bolt

Spring Washer

Flat Washer

1

1

2

2

2

2

6

6

M6*60mm Bolt

M6*35mm Bolt

f
d

m nk

e i

j

h

A

F

E

G

D

H

H

I

I

C B

B-1

B-2

B-3

j

k

m

M6*40mm Bolt

4

16

M6*50mm Bolt

n Wood Dowel

Bolt Nut 4

16

No. Qty.Part Name

A

B

B-1

B-2

B-3
C

D

E

F

G

H

TOP SET

Right Frame

Rail

Rail Support

Rail Cap

Upper Bar

1

1

1

2

2

1

1

1

1

1

Left Rear Post

Left Front Frame

Left Rear Frame

I Shelf

Middle&Bottom Bar 2

2

d

e

f

h

Spring Washer

2

12

32

M6*29mm Bolt

22mm Bolt

i Allen Key

Paper Roller 1

1

Left Front Post



Page 3

SorelleAssembly Steps

Step 1

Step 2

n

n

n

i

I

I

I

H

F

E

d+f

m i

j+f



Page 4

Sorelle

Step 3

Step 4

i

i
k

k

Assembly Steps

D

C

B

B-1



Page 5

Sorelle

Step 5

Step 6

i x10

i
k

x6

Assembly Steps

A

G



Page 6

Sorelle
Assembly Steps

Step 3

x2

x2

i

Step 4

x2i

b

i


	空白页面
	空白页面

